ASSEMBLY INSTRUCTIONS
RODONA RECTANGULAR
BAR TABLE



PARTS INCLUDED

@ HPL TABLE TOP (1 PC)

— =

@ STRETCHER TOP AND BOTTOM




HARDWARE INCLUDED

@ ALLEN KEY-5 (1 PC) ALLEN KEY-4 (1 PC)

@ ALLEN KEY-2 (1 PC) @ BOLT JCBC M6 x 10
(4 PCS)
& 8%
"

@ BOLT JCBC M8 x 40 (4 PCS) @ ?S%Tcg(;Bc M4 x 10

&

@ WRENCH KEY NO.14 (1 PC) @ Fiﬁ:(s;?) NUT M8




ASSEMBLY INSTRUCTIONS

FIX AND TIGHTEN
ALL BOLTS FIRMLY//

<

I N N

PAPER PACKAGE TOP

Q
\ AS SHOWN IN THE PICTURE

LEGS RAFT AS SHOWN
IN THE PICTURE BELOW

FIX AND TIGHTEN ALL
BOLTS FIRMLY FROM BELOW

BOTTOM VIEW / /
"—..,_‘_\



TUCK—=IN HPL TABLE ON THE TOP !! STEP

HPL TABLE TOP 22
v

< N

[ .

)

[ )

HPL TABLE TOP

’
"

FIX AND TIGHTEN
ALL BOLTS FIRMLY FROM BELOW

BOTTOM VIEW [7/



\ |

RODONA

RECTANGULA BAR TABLE



